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Question Id : 68634046984 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
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Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634046985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 68634046986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634046987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634046988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634046989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634046984 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634046985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634046986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634046988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634046989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 6863401533
Question Shuffling Allowed : Yes

Is Section Default? : null
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Question Number : 6 Question Id : 68634046990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634046990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634046991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634046991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634046992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634046992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTET YTAT Yed § & H-91 909 ©--

1157

2.5%

3. ddfey
4. YUY

Options :

686340185629. 1
686340185630. 2
686340185631. 3
686340185632. 4

Question Number : 9 Question Id : 68634046993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634046993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634046994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634046994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
07 o B THE R 2 fGdaH g Wi 3ifteRl o1 uF forg- | graiy- o1 gi-
A. HEIGU/MBIEY

B. HGdR
c. giaFgata
D. [T HGHRI
E. UGH&®

:ﬁﬁﬁ«TTﬂI gahed] ﬁ%ﬂﬁ_ﬁffqﬁﬂq DI Sm:

1. PAAA.E
2. %AddAB. C
3. Hdd C
4. HAAD

Options :

686340185637, 1

686340185638, 2

686340185639. 3
686340185640. 4




Question Number : 11 Question Id : 68634046995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634046995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634046996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634046996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634046997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634046997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634046998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634046998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634046999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634046999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634047000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634047000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634047001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634047001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634047002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634047002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634047003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634047003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634047004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS 71 U TR 06l & 9R] IRE 39 55 Bl R e PRSP a6 © |
D. B 3R E & 4 3R ¢ & §T 3R AT g
D.H & &t SIRA TR
HESRFHAAT
G.BRCHAAT
39 Bt &t A & 31 qrft iR 9aT 5
el famed 94
I.F
%0
3.H
4.E
Options :
686340185677. 1
686340185678, 2

686340185679. 3
686340185680. 4

Question Number : 20 Question Id : 68634047004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS 71 U TR 06l & 9R] IRE 39 55 Bl R e PRSP a6 © |
D.B R E & O 3R ¢ P ardl R =R

D.H & &t SIRA TR

HEJRFSOHE

G.BIRCHOHT

39 BIfel & A & 31 arft SR 9313

el fdwed 7

1.E

| B)

.C
kT
4 E

Options :

686340185677. 1
686340185678. 2
686340185679. 3
686340185680. 4

Question Number : 21 Question Id : 68634047005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep fafe=r gk & el ugell Iad e f9BTs T2
TS SeEIol

TS Poid
1S Jel

4. @8 fered

Options :

686340185681. 1
686340185682. 2
686340185683. 3
686340185684. 4

[y

[

Lad

Question Number : 21 Question Id : 68634047005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg ffew ok & el vecl Yod T 9= T
. TT8 Sdglit

TS ol
IS deat

4. @8 fere

Options :

686340185681. 1
686340185682. 2
686340185683. 3
686340185684. 4

ja—y

[ )

L¥%]

Question Number : 22 Question Id : 68634047006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 = 1 ¥ e S
A Geipl
YR SR 71 358 Hifere after
A |3T=9G 14 L [GHd & SEPR
B |s=be 22 1L [HoR sig i & HedR
C. [srf=9g 25 111 [T Ta=al 31 3TPR
D. [3({=8¢ 32 IV. [gifden=e Su=ER] &1 fUer]
frgfeiad faeed & 9 981 SR &1 997 DI

1. A-TL. B-I. C-III, D-IV
2. A-L. B-II. C-III. D-IV
3. A-IL B-I. C-IV, D-III
4. A-I. B-II. C-IV, D-ITI

Options :

686340185685. 1
686340185686. 2
686340185687. 3
686340185688. 4

Question Number : 22 Question Id : 68634047006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

A1 T 1T
YR SR 71 3rede Hiftre st

A [3rTesg 14 L [GHHG &1 3igPR

B. [eor=9G 22 1. [HoR s Hiad b HGhR

C. [3rwg 25 111 [enfHie d-dal 31 DR
D. [3F=5g 32 IV. [Fifdenid SUaR! &1 fUaR]
frafefad fameal & T 98 ST &1 991 Sy :

1. A-II. B-1. C-III. D-IV
2. A-L. B-I1. C-II1. D-IV
3. AL B-1. C-IV. D-II1
4. A-I. B-II. C-IV. D-III

Options :

686340185685. 1

686340185686. 2

686340185687. 3
686340185688. 4

Question Number : 23 Question Id : 68634047007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e gad I ! Biel ol & of SHP! (YT 391 e o o

1. Tt 3ol

TT® Joll

I 3
4. IS Fult

Options :

686340185689. 1

686340185690. 2

686340185691. 3
686340185692. 4

[ )

L¥%]

Question Number : 23 Question Id : 68634047007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 5@ 3 Tl Bie! olldl § df gud! Ukl 3ol gad ol 8-
IRIIGE R

T 3ot

3N Jl

4. IEEHS IS

Options :

686340185689. 1
686340185690. 2
686340185691. 3
686340185692. 4

[ )

L¥%]

Question Number : 24 Question Id : 68634047008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 gl py T B
YA I $519 INBR TAD i1 TrGH T 175 ST a91e Ged Heiid Sl 3|
HYF I1: T SR T, TGS o] MU0 & ded. SaP a5 1ol o
SWRIGd HY & 3l H, - fqu Tt fasedi # I 96l Iugad 3R &1 99 DI
1. BYA1 IR 1 S T €
2. BYA [ 3R 11 ST ITed ©
3. BY 1961 §. Al HUA 11 7Tad &

4. PYT 1T, AT FYT I Tel §

Options :

686340185693. 1
686340185694. 2
686340185695. 3
686340185696. 4

Question Number : 24 Question Id : 68634047008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &l e AT IU &

YT $519 INBR TS -1 T1E T 73 BT a9T-e Ged HeiRd sl 3|

SY I1: 11 SR T, S1avgs %] MU0 & dgd. Haw® a5 1ol o
SURIGRI HY @ 3TelS U, A fGU T faseedl T 3 9ad Iugad 3R B 99 BIuIL;

1. PYTI SR SH Tl &
2. FYA I AR 1 SHI Tad &
3. FYT I el 6. AP YT 11 TTad &

4. YT 1 TTad. dfpI Y11 9ol ©

Options :

686340185693. 1
686340185694. 2
686340185695. 3
686340185696. 4

Question Number : 25 Question Id : 68634047009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ul 3Tsaf fbg a3 Jafid
1. e
faferas
4. Ssfiea
Options :
686340185697. 1
686340185698. 2

686340185699. 3
686340185700. 4

| )

%]

Question Number : 25 Question Id : 68634047009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uopel HTSal iy 9o 4 gafid &
1. fohbe
faferge
4. Sefteq
Options :
686340185697. 1
686340185698. 2

686340185699. 3
686340185700. 4

[ )

L¥%]

Part B: English

Section Id : 686340926
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 67
Number of Questions to be attempted : 67

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401534
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634047010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toxophilus was. in the author's own words. written "in the English tongue for English men". Who 1s the
author?

1. Sir Thomas More

-J

. John Skelton
3. William Tyndale
4. Roger Ascham

Options :

686340185701. 1
686340185702. 2
686340185703. 3



686340185704. 4

Question Number : 26 Question Id : 68634047010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toxophilus was, in the author's own words. written "in the English tongue for English men". Who 1s the
author?

1. Sir Thomas More

2

. John Skelton
3. William Tyndale
4. Roger Ascham

Options :

686340185701. 1
686340185702. 2
686340185703. 3
686340185704. 4

Question Number : 27 Question Id : 68634047011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who introduced the term "Stream of Consciousness'?

1. James Joyce
2. Henry James
3. William James
4. Samuel Richardson

Options :

686340185705. 1

686340185706. 2

686340185707. 3
686340185708. 4

Question Number : 27 Question Id : 68634047011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who introduced the term "Stream of Consciousness"?

1. James Joyce

| ]

. Henry James
3. William James

4. Samuel Richardson

Options :

686340185705. 1
686340185706. 2
686340185707. 3
686340185708. 4

Question Number : 28 Question Id : 68634047012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Into how many parts is the essay "Tradition and Individual Talent” divided?

1. Two

| B

. Three
3. Four
4. Five

Options :

686340185709. 1
686340185710. 2
686340185711. 3
686340185712. 4

Question Number : 28 Question Id : 68634047012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Into how many parts is the essay "Tradition and Individual Talent” divided?

1. Two

| ]

. Three
3. Four
4. Five

Options :

686340185709. 1
686340185710. 2



686340185711. 3
686340185712. 4

Question Number : 29 Question Id : 68634047013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

John Bunyan's 'The Pilgrim's Progress' 1s an example of

1. science fiction

| B

. allegory
3. detective fiction
4. autobiography
Options :
686340185713. 1
686340185714. 2

686340185715. 3
686340185716. 4

Question Number : 29 Question Id : 68634047013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

John Bunyan's 'The Pilgrim's Progress' 1s an example of

1. science fiction

| B

. allegory
3. detective fiction
4. autobiography

Options :

686340185713. 1
686340185714. 2
686340185715. 3
686340185716. 4

Question Number : 30 Question Id : 68634047014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year was the first Nobel Prize in Literature awarded?

1. 1907

| S]

1913
3.1901
4. 1923

Options :

686340185717. 1
686340185718. 2
686340185719. 3
686340185720. 4

Question Number : 30 Question Id : 68634047014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year was the first Nobel Prize in Literature awarded?

1. 1907

| ]

. 1913
3.1901
4, 1923

Options :

686340185717. 1
686340185718. 2
686340185719. 3
686340185720. 4

Question Number : 31 Question Id : 68634047015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the works in List I with their authors in List IT:

LISTI LISTII
Doctor Faustus I |William Shakespeare
Julius Caesar II. |Christopher Marlows

In Defence of Poesy] I11. [Edmund Spenser
The Faerie Queene | IV [Sir Philip Sidney

ol ofw[>

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

[ B

AL B-IV. C-1. D-II
3. A-L, B-111, C-II, D-IV
4. A-IV, B-11. C-II1. D-I

Options :

686340185721. 1
686340185722. 2
686340185723. 3
686340185724. 4

Question Number : 31 Question Id : 68634047015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the works in List I with their authors in List IT:

LISTI LISTII
Doctor Faustus 1. |William Shakespeare
Julius Caesar II. |Christopher Marlowsg

[n Defence of Poesy] II1. [Edmund Spenser
The Faerie Queene | IV |Sir Philip Sidney

REE

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

| )

AL B-IV, C-1. D-II

%]

CA-L B-IILL, C-IT, D-IV
4. A-IV, B-11, C-III, D-I

Options :

686340185721. 1
686340185722. 2
686340185723. 3
686340185724. 4

Question Number : 32 Question Id : 68634047016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Preface to Lyrical Ballads was first published in 1798.
Statement II: Preface to Lyrical Ballads 1s the unacknowledged manifesto of the Romantic Movement.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

686340185725. 1
686340185726. 2
686340185727. 3
686340185728. 4

Question Number : 32 Question Id : 68634047016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Preface to Lyrical Ballads was first published in 1798.

Statement II: Preface to Lyrical Ballads 1s the unacknowledged manifesto of the Romantic Movement.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340185725. 1
686340185726. 2
686340185727. 3
686340185728. 4



Question Number : 33 Question Id : 68634047017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT;

LIST1I LISTII
The Sex which is Not One I. |Bandra Gilbert and Susan Gubar
The Newly Born Women II. [Luce Irigaray

The Madwoman in the Attic | 111 |Adrienne Rich
On Lies, Secrets and Silence| IV, [Helene Cixous

REE

Choose the correct answer from the options given below:

1. A-TIIL. B-IV. C-I1. D-II

| )

AL B-ILL C-1, D-IV
3. A-IL B-IV. C-1, D-ITI
4. A-I1, B-1I1. C-1, D-IV

Options :

686340185729. 1
686340185730. 2
686340185731. 3
686340185732. 4

Question Number : 33 Question Id : 68634047017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II:

LISTI LISTIO
The Sex which is Not One I. |Sandra Gilbert and Susan Gubar
The Newly Born Women II. [Luce Irigaray

The Madwoman in the Attic | 111 |Adrienne Rich
On Lies, Secrets and Silence| IV, [Helene Cixous

EEE

Choose the correct answer from the options given below:

1. A-IIIL, B-IV. C-I. D-II

[ )

AL B-1T, C-1, D-IV
3. A-IL B-IV, C-I, D-III
4. A-I1, B-1I1, C-1. D-IV

Options :

686340185729. 1

686340185730. 2
686340185731. 3



686340185732. 4

Question Number : 34 Question Id : 68634047018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT:

LISTI LISTII
1700-1743 I. |The Age of Milton
1798-1832 II. [The Age of Chaucer
1625-1660 III. [The Age of Wordsworth
|1340-1400 IV |The Augustan Age

Blo|w|=

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

[ )

AL B-III, C-IV. D-II

Lad

CA-IV. B-II, C-II1. D-I
4. A-IV, B-1II. C-1. D-II

Options :

686340185733. 1
686340185734. 2
686340185735. 3
686340185736. 4

Question Number : 34 Question Id : 68634047018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II:

LISTI LISTII
1700-1745 I. |The Age of Milton
1798-1832 II. [The Age of Chaucer
1625-1660 111 |The Age of Wordsworth
[1340-1400 IV. |[The Augustan Age

B|o|w|>

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

[ B

AL B-IIIL C-IV. DAII

L¥%]

CA-IV. B-I1L C-II1L. D-I
4. A-IV. B-111. C-I, D-II
Options :

686340185733. 1
686340185734. 2



686340185735. 3
686340185736. 4

Question Number : 35 Question Id : 68634047019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who amongst the following is not a part of the group of the "University Wits"?

1. Christopher Marlowe

| ]

. William Shakespeare
3. Robert Greene
4. George Pecle

Options :

686340185737. 1
686340185738. 2
686340185739. 3
686340185740. 4

Question Number : 35 Question Id : 68634047019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following is not a part of the group of the "University Wits"?

1. Christopher Marlowe
2. William Shakespeare
3. Robert Greene

4. George Pecle

Options :

686340185737. 1
686340185738. 2
686340185739. 3
686340185740. 4

Question Number : 36 Question Id : 68634047020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Beowulf 13 a work of

1. Poetry

[

. Play

3. Novel

4. Short story
Options :
686340185741. 1
686340185742. 2

686340185743. 3
686340185744. 4

Question Number : 36 Question Id : 68634047020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Beowulf 1s a work of

1. Poetry

[

. Play

3. Novel

4. Short story
Options :
686340185741. 1
686340185742. 2

686340185743. 3
686340185744. 4

Question Number : 37 Question Id : 68634047021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Lucifer is a character in which of the following works:
1. Doctor Faustus
2. Paradise Lost

3. The Faerie Queene

4, The Jew of Malta

Options :
686340185745. 1
686340185746. 2



686340185747. 3
686340185748. 4

Question Number : 37 Question Id : 68634047021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lucifer is a character in which of the following works:

1. Doctor Faustus

2. Paradise Lost

LF%]

. The Faerie Queene
4. The Jew of Malta

Options :

686340185745. 1
686340185746. 2
686340185747. 3
686340185748. 4

Question Number : 38 Question Id : 68634047022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT;

LIST1 LIST II
A |Oliver Goldsmith I |Tom Jones
B. |Henry Fielding II. |The Lives of the Poets
C. |5amuel Taylor Coleridge] 111 [Biographia Literaria
D. [Samuel Johnson IV. [The Vicar of Wakefield|

Choose the correct answer from the options given below:

1. A-II. B-IV, C-I. D-III

| )

AL B-1L C-IV. D-II

%]

CA-IV. B-1, C-IIIL. D-II
4. A-I. B-III. C-IV, D-I

Options :

686340185749. 1
686340185750. 2
686340185751. 3
686340185752. 4

Question Number : 38 Question Id : 68634047022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II:

LISTI LIST II
A |Oliver Goldsmith I |Tom Jones
B. [Henry Fielding II. [The Lives of the Poets
C. |5amuel Taylor Coleridgd 111 |Biographia Literaria
D. |Samuel Johnson IV. |The Vicar of Wakefield|

Choose the correct answer from the options given below:

1. A-II. B-IV, C-I, D-IIT

[ B

CA-IL B-LL C-IV. D-II
3. A-IV. B-1, C-II1, D-I1
4. A-L. B-III. C-IV, D-I

Options :

686340185749. 1

686340185750. 2

686340185751. 3
686340185752. 4

Question Number : 39 Question Id : 68634047023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a writer from the Renaissance Period?

1. William Shakespeare

2

. John Donne

L S]

. William Wordsworth
4. Christopher Marlowe

Options :

686340185753. 1
686340185754. 2
686340185755. 3
686340185756. 4

Question Number : 39 Question Id : 68634047023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a writer from the Renaissance Period?

1. William Shakespeare

| ]

. John Donne
3. William Wordsworth
4. Christopher Marlowe

Options :

686340185753. 1
686340185754. 2
686340185755. 3
686340185756. 4

Question Number : 40 Question Id : 68634047024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
Robert Browning] [ |0de To a Nightingale
John Keats II. My Last Duchess

PE. Shelley 1II. |Dover Beach
Matthew Arnold | IV, [Prometheus Unboundj

ofofw[>

Choose the correct answer from the options given below:

1. A-II. B-IV, C-IIL. D-I

[ )

CA-TV. B-T1, C-1. D-III
3. A-IL B-1, C-IV, D-III
4. A-I. B-III., C-IV. D-IT

Options :

686340185757. 1
686340185758. 2
686340185759. 3
686340185760. 4

Question Number : 40 Question Id : 68634047024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
F.obert Browvning| 1. |Ode To a Nightingale
John Keats II. My Last Duchess
PB. Shelley 111, [Dover Beach
Matthew Arnold | IV, [Prometheus Unbound

o[ ofw[>

Choose the correct answer from the options given below:

1. A-II. B-I'V, C-III. D-I

[ B

CA-IV. B-I1, C-1. D-III
3. A-IL B-1. C-IV, D-III
4. A-I. B-III., C-IV. D-IT

Options :

686340185757. 1
686340185758. 2
686340185759. 3
686340185760. 4

Question Number : 41 Question Id : 68634047025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the function of Drama. according to Dryden?

1. Purgation
2. Religious Teaching
3. Delight and Instruction
4. Transportation

Options :

686340185761. 1

686340185762. 2

686340185763. 3
686340185764. 4

Question Number : 41 Question Id : 68634047025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the function of Drama. according to Dryden?

1. Purgation

| S]

. Religious Teaching
3. Delight and Instruction
4. Transportation

Options :

686340185761. 1
686340185762. 2
686340185763. 3
686340185764. 4

Question Number : 42 Question Id : 68634047026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who wrote "Our Sweetest Songs are those that tell of saddest thoughts"?

1. William Wordsworth

| ]

. John Keats
3. PB. Shelley
4. Samuel Taylor Coleridge

Options :

686340185765. 1
686340185766. 2
686340185767. 3
686340185768. 4

Question Number : 42 Question Id : 68634047026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who wrote "Our Sweetest Songs are those that tell of saddest thoughts"?

1. William Wordsworth

| B

. John Keats

3. P.B. Shelley

4. Samuel Taylor Coleridge
Options :

686340185765. 1
686340185766. 2



686340185767. 3
686340185768. 4

Question Number : 43 Question Id : 68634047027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which amongst the following works has not been written by T.S. Eliot?

1. The Cocktail Party

| ]

. Murder in the Cathedral
3. The Boy with a Cart

4. The Wasteland

Options :

686340185769. 1
686340185770. 2
686340185771. 3
686340185772. 4

Question Number : 43 Question Id : 68634047027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which amongst the following works has not been written by T.S. Eliot?
1. The Cocktail Party
2. Murder in the Cathedral
3. The Boy with a Cart

4. The Wasteland

Options :

686340185769. 1
686340185770. 2
686340185771. 3
686340185772. 4

Question Number : 44 Question Id : 68634047028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a mythological retelling?

1. The Oath of Vayuputras

| ]

. The Palace of Illusions

faa

. Nagmadala
4. Vanity Fair

Options :

686340185773. 1
686340185774. 2
686340185775. 3
686340185776. 4

Question Number : 44 Question Id : 68634047028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a mythological retelling?

1. The Oath of Vayuputras

| ]

. The Palace of Illusions

L]

. Nagmadala
4. Vanity Fair
Options :
686340185773. 1
686340185774. 2

686340185775. 3
686340185776. 4

Question Number : 45 Question Id : 68634047029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
English August: An Indian Story 1s a famous novel written by:
1. Upamanyu Chatterjee
2. Vikram Seth
3. Raja Rao
4. David Davidar
Options :

686340185777. 1
686340185778. 2



686340185779. 3
686340185780. 4

Question Number : 45 Question Id : 68634047029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

English August: An Indian Story 1s a famous novel written by:

1. Upamanyu Chatterjee

[

. Vikram Seth

L¥%]

. Raja Rao
4. David Davidar

Options :

686340185777. 1
686340185778. 2
686340185779. 3
686340185780. 4

Question Number : 46 Question Id : 68634047030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Indian novel, Rajmohan's Wife, was written by:
1. Bankim Chandra Chatterjee
2. R. K. Narayan
3. Raja Rao

4. Rabindranath Tagore

Options :

686340185781. 1
686340185782. 2
686340185783. 3
686340185784. 4

Question Number : 46 Question Id : 68634047030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first Indian novel. Rajmohan's Wife, was written by:

1. Bankim Chandra Chatterjee

| S]

. R. K. Narayan

faa

. Raja Rao

4. Rabindranath Tagore

Options :

686340185781. 1
686340185782. 2
686340185783. 3
686340185784. 4

Question Number : 47 Question Id : 68634047031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What was the original name of Mushi Premchand?

1. Prem Dass

| S]

. Dhani Ram

L]

. Dhanpat Rai Srivastava
4. Yusuf Ahmad

Options :

686340185785. 1

686340185786. 2

686340185787. 3
686340185788. 4

Question Number : 47 Question Id : 68634047031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What was the original name of Mushi Premchand?
1. Prem Dass
2. Dhani Ram
3. Dhanpat Rai Srivastava
4. Yusuf Ahmad
Options :

686340185785. 1
686340185786. 2



686340185787. 3
686340185788. 4

Question Number : 48 Question Id : 68634047032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'A Bend in the Ganges' 1s written by.

1. Khushwant Singh

| B]

. Anita Desai
3. R. K. Narayan
4. Manohar Malgonkar

Options :

686340185789. 1
686340185790. 2
686340185791. 3
686340185792. 4

Question Number : 48 Question Id : 68634047032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'A Bend in the Ganges' 1s written by.
1. Khushwant Singh
2. Anita Desai
3. R. K. Narayan

4. Manohar Malgonkar

Options :

686340185789. 1
686340185790. 2
686340185791. 3
686340185792. 4

Question Number : 49 Question Id : 68634047033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mohan Rakesh's 'Adhe Adhure' highlights the issues and problem connected with:

1. The neo-rich

[

. The middle class
3. The aristocracy
4. The poor

Options :

686340185793. 1

686340185794. 2

686340185795. 3
686340185796. 4

Question Number : 49 Question Id : 68634047033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mohan Rakesh's "Adhe Adhure' lughlights the 1ssues and problem connected with:

1. The neo-rich

[

. The middle class
3. The aristocracy
4. The poor

Options :

686340185793. 1

686340185794. 2

686340185795. 3
686340185796. 4

Question Number : 50 Question Id : 68634047034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who was the first recipient of Saraswati Samman?
1. Vijay Tendulakar
2. Harivansh Rai Bachchan

3. Sharanlumar Limbale

4. Mahesh Elkunchwar

Options :
686340185797. 1
686340185798. 2



686340185799. 3
686340185800. 4

Question Number : 50 Question Id : 68634047034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the first recipient of Saraswati Samman?

1. Vijay Tendulakar

| ]

. Harivansh Rai Bachchan
3. Sharankumar Limbale

4. Mahesh Elkunchwar

Options :

686340185797. 1
686340185798. 2
686340185799. 3
686340185800. 4

Question Number : 51 Question Id : 68634047035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote the preface to Mulk Raj Anand's '"Untouchable'?
1. W. B. Yeats
2. E. M. Forster

3. Mahatma Gandhi

4. T. S. Eliot

Options :

686340185801. 1
686340185802. 2
686340185803. 3
686340185804. 4

Question Number : 51 Question Id : 68634047035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who wrote the preface to Mulk Raj Anand's 'Untouchable'?

1. W. B. Yeats

| S]

. E. M. Forster
3. Mahatma Gandhi

4. T. S. Eliot

Options :

686340185801. 1
686340185802. 2
686340185803. 3
686340185804. 4

Question Number : 52 Question Id : 68634047036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following has based a substantial part of his work on the Partition and related issues?

1. Mirza Ghalib
2. Saadat Hasan Manto
3. Mohan Rakesh
4. Faiz Ahmad Faiz

Options :

686340185805. 1

686340185806. 2

686340185807. 3
686340185808. 4

Question Number : 52 Question Id : 68634047036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following has based a substantial part of his work on the Partition and related 1ssues?

1. Mirza Ghalib

| ]

. Saadat Hasan Manto
3. Mohan Rakesh
4. Faiz Ahmad Faiz
Options :

686340185805. 1
686340185806. 2



686340185807. 3
686340185808. 4

Question Number : 53 Question Id : 68634047037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which Indian novelist has written 'The Cat and Shakespeare'?

1. R. K. Narayan

| ]

. Khushwant Singh

L]

. Raja Rao
4. Anita Desai

Options :

686340185809. 1
686340185810. 2
686340185811. 3
686340185812. 4

Question Number : 53 Question Id : 68634047037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Indian novelist has written 'The Cat and Shakespeare'?
1. R. K. Narayan
2. Khushwant Singh
3. Raja Rao
4. Anita Desai

Options :

686340185809. 1
686340185810. 2
686340185811. 3
686340185812. 4

Question Number : 54 Question Id : 68634047038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Genderis a imposed division of sexes,

1. culturally

| ]

. biologically
3. socially
4. mdividually

Options :

686340185813. 1
686340185814. 2
686340185815. 3
686340185816. 4

Question Number : 54 Question Id : 68634047038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gender s a imposed division of sexes.

=

. culturally

| ]

. biologically
3. socially
4. individually
Options :
686340185813. 1
686340185814. 2

686340185815. 3
686340185816. 4

Question Number : 55 Question Id : 68634047039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The technique of "defamiliarization” 1s to make

1. unfamiliar things familiar

| ]

. familiar things unfamiliar
3. unfamiliar things unfamiliar
4. familiar things familiar
Options :

686340185817. 1
686340185818. 2



686340185819. 3
686340185820. 4

Question Number : 55 Question Id : 68634047039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The technique of "defamiliarization” 1s to make
1. unfamiliar things familiar
2. familiar things unfamiliar
3. unfamiliar things unfamiliar

4. familiar things familiar

Options :

686340185817. 1
686340185818. 2
686340185819. 3
686340185820. 4

Question Number : 56 Question Id : 68634047040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Russian Formalism| I [1960s-present
[New Criticism II. 1980s onwards

Feminist Criticism | [IL [1920s-1930s
[New Historicism | IV |1940s-1950s

o ofw[

Choose the correct answer from the options given below:

1. A-III. B-1. C-II. D-IV

[ )

AL B-IV. C-1. D-II
3. A-IV. B-1. C-I1, D-III
4. A-I1, B-1IL. C-1, D-IV

Options :

686340185821. 1
686340185822. 2
686340185823. 3
686340185824. 4

Question Number : 56 Question Id : 68634047040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Russian Formalism| 1. |1960s-present
[New Criticism II. [1980s onwards

Feminist Criticism | [T [1920s-1930s
INew Historicism | IV, [1940s-1950s

ofofw[>

Choose the correct answer from the options given below:

1. A-TII. B-1. C-II. D-IV

[ B

AL B-IV. C-1. D-II
3. A-IV, B-1, C-I1, D-III
4. A-I1, B-1I1, C-1. D-IV

Options :

686340185821. 1
686340185822. 2
686340185823. 3
686340185824. 4

Question Number : 57 Question Id : 68634047041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The phase "dissociation of sensibility" was coined by
1. Francis Bacon
2. William Wordsworth
3. T.S. Eliot

4. Cleanth Brooks

Options :

686340185825. 1
686340185826. 2
686340185827. 3
686340185828. 4

Question Number : 57 Question Id : 68634047041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The phase "dissociation of sensibility" was coined by

1. Francis Bacon

| ]

. William Wordsworth
3. T.S. Fliot

4. Cleanth Brooks

Options :

686340185825. 1
686340185826. 2
686340185827. 3
686340185828. 4

Question Number : 58 Question Id : 68634047042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST 1 LIST 11

. A word and or phrase that reads the same
Fi:i Puhind sene K forwards and backwards

. A composition in prose or public speech in
B. [Palinode I AR R > e
elaborate praise a person, group or deed
The written surface of a parchment which 1=
" |scraped off to use for a new text

C. |Palimpsest 111

v A poem in which the poet renounces an

D. |Panegvric : . :
: earlier poem or type of subject matter

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| B

AL B-IV, C-IIL. D-II
3. A-L, B-I1I. C-III, D-IV
4. A-IV, B-1, C-111, D-IT

Options :

686340185829. 1
686340185830. 2
686340185831. 3
686340185832. 4

Question Number : 58 Question Id : 68634047042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

: A word and or phrase that reads the same
A [Palindrome L .
forwards and backwards
A composition in prose or public speech in
elaborate praise a person, group or deed
The written surface of a parchment which 1s
scraped off to use for a new text
A poem in which the poet renounces an
earlier poem or type of subject matter

E. |Palinode .

C. |Palimpsest II1.

D [Panegyric IV

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| )

. A-I. B-IV, C-I11. D-II

Lad

.A-IL B-II. C-III, D-IV
4. A-IV, B-1, C-11I, D-II

Options :

686340185829. 1
686340185830. 2
686340185831. 3
686340185832. 4

Question Number : 59 Question Id : 68634047043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
The transition 1n an
A |Stress I. |utterance between
adjacent speeches
The relative loudness of a
B. [Intonation II. |component element in an
utterance
The variation in the rise and fall
C. [Pitch IIL. |of the voice in course of an
utterance
The rise and fall of the voice
D. [uncture IV fthythm 1n the course of an
utterance

Choose the correct answer from the options given below:

1. A-TII. B-IV. C-II. D-I

[ B

CA-TV, B-TIIL. C-I1. D-I
3. A-IL B-III, C-IV, D-I
4. A-I1, B-IV. C-II1. D-I

Options :

686340185833. 1
686340185834. 2
686340185835. 3
686340185836. 4

Question Number : 59 Question Id : 68634047043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
The transition in an
A |Stress I. |utterance between

adjacent speeches

The relative loudness of a
B. [Intonation II. |component element in an
utterance

The variation in the rise and fall
C. [Pitch IIL. |of the voice in course of an
utterance

The rise and fall of the voice

D. [uncture IV fthythm 1n the course of an
utterance

Choose the correct answer from the options given below:

1. A-TII. B-IV. C-II. D-I

[ B

CA-TV, B-TIIL. C-I1. D-I
3. A-IL B-III, C-IV, D-I
4. A-I1, B-IV. C-II1. D-I

Options :

686340185833. 1
686340185834. 2
686340185835. 3
686340185836. 4

Question Number : 60 Question Id : 68634047044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |Blank Verse I JA lyric poem uttered by a speaker to a listener(s), thereby revealing their own character]
B |Dramatic Monologug II. |A lyric poem of 14 1ambic pentameter lines with a particular thyme scheme
C. |[Sonnet 111 |A formal lament in verse for the death of a person
D. [Elegy IV [Unrhymed iambic parameter lines in a poem

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

[ )

A-TV, B-I1, C-III. D-I
3. A-IV. B-1, C-I1, D-ITT
4. A- 1, B-III, C-II, D-IV

Options :



686340185837. 1
686340185838. 2
686340185839. 3
686340185840. 4

Question Number : 60 Question Id : 68634047044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |Blank Verse I |A lyric poem uttered by a speaker to a listener(s), thereby revealing their own character]
B. |Dramatic Monologug II. |A lyric poem of 14 tambic pentameter lines with a particular thyme scheme
C. |Sonnet 11 |A formal lament in verse for the death of a person
D. [Elegy IV, |Unrhymed iambic parameter lines in a poem

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

| )

ATV, B-1I1L C-II1. D-I
3. A-IV. B-1. C-I1. D-T11
4. A-1, B-1II, C-II, D-IV

Options :

686340185837. 1

686340185838. 2

686340185839. 3
686340185840. 4

Question Number : 61 Question Id : 68634047045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The "Antimasque” was a form developed by:

1. William Shakespeare

| ]

. Geotfrey Chaucer
3. Ben Jonson

4. John Donne

Options :

686340185841. 1
686340185842. 2
686340185843. 3
686340185844. 4



Question Number : 61 Question Id : 68634047045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The "Antimasque” was a form developed by:

1. William Shakespeare

| S

. Geoffrey Chaucer
3. Ben Jonson

4. John Donne

Options :

686340185841. 1
686340185842. 2
686340185843. 3
686340185844. 4

Question Number : 62 Question Id : 68634047046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

F.ecurrent themes, actions, types of
characters and images clauned to be
a result of elemental and universal
patterns in the human psyche

A |Folklore E

B. Myth II. [Stories of various kinds of marvels
[Verbal compositions, sayings
C. |Archetype III. |and social rituals handed down the

zenerations orally

A story m a system of
hereditary stories of ancient origin
assigned to a particular cultural

croup

D. |Fairv tales IV.

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

[ )

AT B-IV, C-II1, D-I
3. A-IL B-IV. C-1. D-I1
4. A-IIL B-IV. C-II. D-I

Options :

686340185845. 1
686340185846. 2
686340185847. 3
686340185848. 4



Question Number : 62 Question Id : 68634047046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II

E ecurrent themes, actions, types of
characters and nages claimed to be

L [Folklors E a result of elemental and universal
patterns in the human psyche
B. PMMyth II. [Stories of various kinds of marvels

[Verbal compositions, sayings

C. |Archetype I11. |and social rituals handed down the
generations orally

A story in a systetn of

hereditary stories of ancient origin
assigned to a particular cultural
group

D. |Fairy tales v

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

[ )

. A-TL. B-IV, C-III. D-I
3. A-IIL, B-TIV. C-1. D-II
4. A-IIL. B-IV. C-II. D-I

Options :

686340185845. 1
686340185846. 2
686340185847. 3
686340185848. 4

Question Number : 63 Question Id : 68634047047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The Elizabethan Age 1s regarded as the Golden Age of English Literature
Reason R: Queen Elizabeth ruled England from 1558-1603 and brought peace to the land

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true but R 1s NOT the correct explanation of A

2. Both A and R are true and R is the correct explanation of A

3. A s true but R is false

4. A is false but R 1s true
Options :
686340185849. 1
686340185850. 2

686340185851. 3
686340185852. 4

Question Number : 63 Question Id : 68634047047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The Elizabethan Age 1s regarded as the Golden Age of English Literature
Reason R: Queen Elizabeth ruled England from 1558-1603 and brought peace to the land

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true but R is NOT the correct explanation of A

2. Both A and R are true and R is the correct explanation of A

3. A s true but R is false

4. A is false but R is true

Options :

686340185849. 1
686340185850. 2
686340185851. 3
686340185852. 4



Question Number : 64 Question Id : 68634047048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Both the monologue and the soliloquy are the same and can be used interchangeably

Reason R: There 1s difference between the monologue and the soliloquy. The former 1s a lengthy speech by
one individual to others, while the latter is a monologue that expresses the character”s thoughts privately

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true but R 1s NOT the correct explanation of A

2. Both A and R are true and R is the correct explanation of A

3. A s true but R is false

4. A is false but R is true
Options :
686340185853. 1
686340185854. 2

686340185855. 3
686340185856. 4

Question Number : 64 Question Id : 68634047048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Both the monologue and the soliloquy are the same and can be used interchangeably

Reason R: There 1s difference between the monologue and the soliloquy. The former 1s a lengthy speech by
one individual to others, while the latter is a monologue that expresses the character”s thoughts privately

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true but R 1s NOT the correct explanation of A

2. Both A and R are true and R is the correct explanation of A

3. A s true but R is false

4. A is false but R is true

Options :



686340185853. 1
686340185854. 2
686340185855. 3
686340185856. 4

Question Number : 65 Question Id : 68634047049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
i A "large” printer's sheet which 1s
A [Ealio E tolded twice to form four leaves
A "large” printer's sheet which is
E. [ B, folded thrice to form eight leaves
A "large” printer's sheet which 1s
C. |Octavo ITT. |folded once to form two leaves of

four pages
A "large” printer's sheet which 1s
folded to form twelve leaves

D. [Duodecimo IV

Choose the correct answer from the options given below:

1. A-I. B-III, C-IV. D-II

[ ]

AL B-ID, C-1L D-IV
3. AL B-1. C-IT, D-IV
4, A-IV. B-1. C-II, D-III

Options :

686340185857. 1
686340185858. 2
686340185859. 3
686340185860. 4

Question Number : 65 Question Id : 68634047049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
i A "large” printer's sheet which 1s
A ol L folded twice to form four leaves
A "large” printer's sheet which 1s

E. [ B, folded thrice to form eight leaves
A "large” printer's sheet which is

C. |Octavo ITT. |folded once to form two leaves of
four pages

A "large” printer's sheet which 1s
folded to form twelve leaves

D. [Duodecimo IV

Choose the correct answer from the options given below:

1. A-I. B-III, C-IV. D-II

| ]

CACIL B-IIL C-LL D-IV
3. AL B-1. C-I1. D-IV
4. A-IV. B-1. C-II. D-III

Options :

686340185857. 1

686340185858. 2

686340185859. 3
686340185860. 4

Question Number : 66 Question Id : 68634047050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

includes words arranged in metrical pattern. often using rhiyming verses in an imaginative style.

1. Prose

[

. Poetry
3. Play

4. Non-fiction

Options :

686340185861. 1
686340185862. 2
686340185863. 3
686340185864. 4

Question Number : 66 Question Id : 68634047050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



includes words arranged in metrical pattern. often using rhyming verses in an imaginative style.

1. Prose

[

. Poetry
3. Play

4, Non-fiction

Options :

686340185861. 1
686340185862. 2
686340185863. 3
686340185864. 4

Question Number : 67 Question Id : 68634047051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Langland's, Piers Plowman is an example of
1. Epic
2. Allegorical Poem
3. Lymie
4, Elegy

Options :

686340185865. 1
686340185866. 2
686340185867. 3
686340185868. 4

Question Number : 67 Question Id : 68634047051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Langland's. Piers Plowman is an example of
1. Epic
2. Allegorical Poem
3. Lyric
4. Elegy
Options :

686340185865. 1
686340185866. 2



686340185867. 3
686340185868. 4

Question Number : 68 Question Id : 68634047052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
'Graveyard Poets' 1s a term applied to:
1. Sixteenth century poets who wrote pastoral elegies and raised questions about the justice of fate
2. Seventeenth century poets who wrote elegies lamenting the death of a friend or a person

3. Eighteenth century poets who wrote meditative poems on human morality

4. Nineteenth century poets who wrote romantic poems on love and life

Options :

686340185869. 1
686340185870. 2
686340185871. 3
686340185872. 4

Question Number : 68 Question Id : 68634047052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Graveyard Poets' 1s a term applied to:
1. Sixteenth century poets who wrote pastoral elegies and raised questions about the justice of fate
2. Seventeenth century poets who wrote elegies lamenting the death of a friend or a person
3. Eighteenth century poets who wrote meditative poems on human morality

4. Nineteenth century poets who wrote romantic poems on love and life

Options :

686340185869. 1
686340185870. 2
686340185871. 3
686340185872. 4

Question Number : 69 Question Id : 68634047053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following groups of words are related to each other?

1. Crime Fiction, Murder mysteries. Detective stories, Police novel

| S]

. Practical Criticism. Theoretical Criticism. New Criticism. Cultural Studies
3. Deconstruction. difference, trace, structuralism

4. Much Ado About Nothing, Love's Labours Lost. The Taming of a Shrew. Julius Caesar

Options :

686340185873. 1
686340185874. 2
686340185875. 3
686340185876. 4

Question Number : 69 Question Id : 68634047053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following groups of words are related to each other?
1. Crime Fiction, Murder mysteries. Detective stories, Police novel
2. Practical Criticism, Theoretical Criticism, New Criticism, Cultural Studies

3. Deconstruction. difference, trace, structuralism

4. Much Ado About Nothing. Love's Labours Lost, The Taming of a Shrew, Julius Caesar

Options :

686340185873. 1
686340185874. 2
686340185875. 3
686340185876. 4

Question Number : 70 Question Id : 68634047054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. Generalized chronicles of the deeds of a
S ke d I Christian Saint based on pious legends
A biography written by the subject
themszelves
A first person account of the notable
monuments in the author's life

BE. Memoir .

C. Diary IIL.

D. Hagiography | IV |A day to day record of events in one's life

Choose the correct answer from the options given below:

1. A-IIL B-II. C-IV., D-I
2. A-IL B-IIL, C-1. D-IV
3. A-L. B-II. C-III, D-IV
4. A-I1, B-1I1. C-IV., D-I

Options :

686340185877. 1

686340185878. 2

686340185879. 3
686340185880. 4

Question Number : 70 Question Id : 68634047054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

Generalized chronicles of the deeds of a
Christian Saint based on pious legends

A biography written by the subject
themselves

A first person account of the notable
monuments in the author's life

D. [Hagiography | IV |A day to day record of events in one's life

A |Autobiography| L

BE. Memoir .

C. Diary IIL.

Choose the correct answer from the options given below:
1. A-IIL B-II. C-IV., D-I
2. A-IL B-IIL, C-1. D-IV
3. A-L. B-II. C-III, D-IV
4. A-IL. B-IIL, C-IV. D-I
Options :

686340185877. 1
686340185878. 2



686340185879. 3
686340185880. 4

Question Number : 71 Question Id : 68634047055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in a chronological order:

A. Bourgeois or domestic tragedy
B. Shakespearean tragedy

C. Classical tragedy

D. Medieval tragedy

Choose the correct answer from the options given below:

1LAD.C.B

| B

.C.D.B.A
3. B.A.C.D
4. C.D.A.B

Options :

686340185881. 1
686340185882. 2
686340185883. 3
686340185884. 4

Question Number : 71 Question Id : 68634047055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in a chronological order:
A. Bourgeois or domestic tragedy
B. Shakespearean tragedy
C. Classical tragedy
D. Medieval tragedy

Choose the correct answer from the options given below:

1.ADCB

| )

.C.D.B.A
3IBACD
4. C.D.A.B
Options :

686340185881. 1
686340185882. 2



686340185883. 3
686340185884. 4

Question Number : 72 Question Id : 68634047056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The famous essay "The Politics of Translation" 1s written by:

1. Eugene Nida

2. Mahasweta Devi

L]

. Gayatri Chakravorty Spivak
4. Josephine Balmer

Options :

686340185885. 1
686340185886. 2
686340185887. 3
686340185888. 4

Question Number : 72 Question Id : 68634047056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The famous essay "The Politics of Translation" 1s written by:

1. Eugene Nida
2. Mahasweta Devi
3. Gayatri Chakravorty Spivak
4. Josephine Balmer

Options :

686340185885. 1

686340185886. 2

686340185887. 3
686340185888. 4

Question Number : 73 Question Id : 68634047057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Untranslatability is a possibility in:

1. Drama

[

. Cultural contexts
3. Granunar
4. Prose

Options :

686340185889. 1
686340185890. 2
686340185891. 3
686340185892. 4

Question Number : 73 Question Id : 68634047057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Untranslatability is a possibility in:

1. Drama

b2

. Cultural contexts
3. Granunar
4. Prose

Options :

686340185889. 1
686340185890. 2
686340185891. 3
686340185892. 4

Question Number : 74 Question Id : 68634047058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I. C. Catford divides the shift in translation into major types.

1. Nine

| ]

. Four
3. Two
4. Three

Options :

686340185893. 1
686340185894. 2



686340185895. 3
686340185896. 4

Question Number : 74 Question Id : 68634047058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

I. C. Catford divides the shift in translation mnto major types.

1. Nine

| ]

. Four
3. Two
4. Three

Options :

686340185893. 1
686340185894. 2
686340185895. 3
686340185896. 4

Question Number : 75 Question Id : 68634047059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Munshi Premchand's Godaan has been translated into English by:

1. Jai Rattan and Purshottama in 1957

2

. Gordon C. Roadarmel in 1968

%]

. Both (1) and (2)

4. None of the above

Options :

686340185897. 1
686340185898. 2
686340185899. 3
686340185900. 4

Question Number : 75 Question Id : 68634047059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Munshi Premchand's Godaan has been translated into English by:

1. Jai Rattan and Purshottama in 1957

[

. Gordon C. Roadarmel in 1968

T

. Both (1) and (2)

4, None of the above

Options :

686340185897. 1
686340185898. 2
686340185899. 3
686340185900. 4

Question Number : 76 Question Id : 68634047060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In translation. SL and TL mean:

1. Semiotic Language and Transmitted Language

| B

. Source Language and Target Language
3. Simple Language and Transferred Language

4. None of the above

Options :

686340185901. 1
686340185902. 2
686340185903. 3
686340185904. 4

Question Number : 76 Question Id : 68634047060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In translation, SL and TL mean:

1. Semiotic Language and Transmitted Language

| ]

. Source Language and Target Language
3. Simple Language and Transferred Language
4. None of the above

Options :

686340185901. 1
686340185902. 2



686340185903. 3
686340185904. 4

Question Number : 77 Question Id : 68634047061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Ecriture Feminme" is a term derived from the writings of:

1. Julia Kristeva

[ )

. Helene Cixous
3. Toril Moi
4. Luce Irigaray

Options :

686340185905. 1
686340185906. 2
686340185907. 3
686340185908. 4

Question Number : 77 Question Id : 68634047061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Ecriture Feminme" is a term derived from the writings of:

1. Julia Kristeva
2. Helene Cixous
3. Toril Moi
4, Luce Irigaray

Options :

686340185905. 1

686340185906. 2

686340185907. 3
686340185908. 4

Question Number : 78 Question Id : 68634047062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term '"Weltliteratur' was coined by:

1.F. W. J. Schelling

| ]

. A. W. Schegel
3. 1. G. Herder

4. 1. W. V. Goethe

Options :

686340185909. 1
686340185910. 2
686340185911. 3
686340185912. 4

Question Number : 78 Question Id : 68634047062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term "Weltliteratur' was coimed by:
1. F. W. J. Schelling
2. A. W. Schegel
3. 1. G. Herder

4. 1. W. V. Goethe

Options :

686340185909. 1
686340185910. 2
686340185911. 3
686340185912. 4

Question Number : 79 Question Id : 68634047063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The principle behind all art 1s imitation

Statement IT: The principle behind all art is magnification

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II 1s correct

Options :

686340185913. 1
686340185914. 2
686340185915. 3
686340185916. 4

Question Number : 79 Question Id : 68634047063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The principle behind all art 13 imitation

Statement IT: The principle behind all art 1s magnification

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement I1 is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

686340185913. 1
686340185914. 2
686340185915. 3
686340185916. 4



Question Number : 80 Question Id : 68634047064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Dryden's An Essay of Dramatic Poesy. who defended the English plays?

1. Crites

| S

. Neander
3. Lisideius
4. Eugenius
Options :
686340185917. 1
686340185918. 2

686340185919. 3
686340185920. 4

Question Number : 80 Question Id : 68634047064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In Dryden's An Essay of Dramatic Poesy. who defended the English plays?
1. Crites
2. Neander
3. Lisideius
4. Eugenius
Options :
686340185917. 1
686340185918. 2

686340185919. 3
686340185920. 4

Question Number : 81 Question Id : 68634047065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who first objected to Wordsworth's Theory of Language?

1. 8.T. Coleridge

| ]

. John Keats

L]

. Lord Byron

4. I.W. H. Atkins



Options :

686340185921. 1
686340185922. 2
686340185923. 3
686340185924. 4

Question Number : 81 Question Id : 68634047065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who first objected to Wordsworth's Theory of Language?

1. 8.T. Coleridge

-

. John Keats

3. Lord Byron

4. I. W. H. Atkins
Options :
686340185921. 1
686340185922. 2

686340185923. 3
686340185924. 4

Question Number : 82 Question Id : 68634047066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Consider the following statements about Structuralism:

A. Structuralism spread all over the world following a rise in its importance in France.

B. Structuralism is related to criticism in all fields of literature and art.

C. Structuralism began in the 1960s.

D. Structuralism tries to identify certain structures in a piece of work.

Choose the correct options:

1.LA.B.C

[ ]

=BT
3.AandD

4. Cand D

Options :

686340185925. 1
686340185926. 2
686340185927. 3
686340185928. 4



Question Number : 82 Question Id : 68634047066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Consider the following statements about Structuralism:
A. Structuralism spread all over the world following a rise in its importance in France.
B. Structuralism is related to criticism 1n all fields of literature and art.
C. Structuralism began in the 1960s.
D. Structuralism tries to identify certain structures in a picce of work.
Choose the correct options:
1LA.B.C
2.:A,C,D

3.,AandD

4. CandD

Options :

686340185925. 1
686340185926. 2
686340185927. 3
686340185928. 4

Question Number : 83 Question Id : 68634047067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who said, "There is nothing outside to the text"?

1. T. S. Eliot

-

. Jacques Lacan
3. Jacques Derrida

4. Ferdinand de Saussure

Options :

686340185929. 1
686340185930. 2
686340185931. 3
686340185932. 4

Question Number : 83 Question Id : 68634047067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who said. "There is nothing outside to the text"?

1. T. S. Eliot

d

2. Jacques Lacan
3. Jacques Derrida
4. Ferdinand de Saussure
Options :
686340185929. 1
686340185930. 2

686340185931. 3
686340185932. 4

Question Number : 84 Question Id : 68634047068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Interpellation, according to Althusser, is a process by which a concrete individual becomes a concrete

1. Citizen

-J

cAgent
3. Subject

4. Individual

Options :

686340185933. 1
686340185934. 2
686340185935. 3
686340185936. 4

Question Number : 84 Question Id : 68634047068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Interpellation, according to Althusser. is a process by which a conerete individual becomes a concrete

1. Citizen

| B

. Agent

L]

. Subject
4. Individual

Options :



686340185933. 1
686340185934. 2
686340185935. 3
686340185936. 4

Question Number : 85 Question Id : 68634047069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Close reading” is the term often used to describes the method of

1. Marxism
2. New Criticism
3. Structuralism
4. Formalism

Options :

686340185937. 1

686340185938. 2

686340185939. 3
686340185940. 4

Question Number : 85 Question Id : 68634047069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Close reading” is the term often used to describes the method of

1. Marxism
2. New Criticism
3. Structuralism
4. Formalism

Options :

686340185937. 1

686340185938. 2

686340185939. 3
686340185940. 4

Question Number : 86 Question Id : 68634047070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Longinus. which two of the following qualities apply to 'Great Poetry'?
A. Tt must be the work of a genius, an inspired person.
B. It must cause a feeling of melancholy in the reader.
C. It must employ devices of rhetoric.
D. It must please selectively and on special occasions.
1.Band C
2.Aand B
3.AandC
4.Cand D
Options :
686340185941. 1
686340185942. 2

686340185943. 3
686340185944. 4

Question Number : 86 Question Id : 68634047070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Longinus. which two of the following qualities apply to 'Great Poetry'?
A It must be the work of a gentus, an inspired person.
B. It must cause a feeling of melancholy in the reader.
C. It must employ devices of rhetoric.
D. It must please selectively and on special occasions.
1.Band C
2.Aand B
3.Aand C
4.CandD
Options :
686340185941. 1
686340185942. 2

686340185943. 3
686340185944. 4

Question Number : 87 Question Id : 68634047071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
According to Longinus. sublimity is a certain loftiness and excellence in the use of
1. Imagery
2. Language
3. Style

4. Granunar

Options :

686340185945. 1
686340185946. 2
686340185947. 3
686340185948. 4

Question Number : 87 Question Id : 68634047071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Longinus, sublimity is a certain loftiness and excellence in the use of

1. Imagery

2. Language

L]

. Style
4. Granunar

Options :

686340185945. 1
686340185946. 2
686340185947. 3
686340185948. 4

Question Number : 88 Question Id : 68634047072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amitav Gosh was awarded the Jnanpith Award in

1. 2018

2

. 2019
3.2020
4, 2022

Options :
686340185949. 1



686340185950. 2
686340185951. 3
686340185952. 4

Question Number : 88 Question Id : 68634047072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amitav Gosh was awarded the Jnanpith Award in

1. 2018

[

. 2019
3. 2020
4. 2022

Options :

686340185949. 1
686340185950. 2
686340185951. 3
686340185952. 4

Question Number : 89 Question Id : 68634047073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milton's Tycidas' is

1. a ballad

[ ]

. an epic
3. an elegy

4. a sonnet

Options :

6863401859531
686340185954. 2
686340185955. 3
686340185956. 4

Question Number : 89 Question Id : 68634047073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Milton's Lycidas' is

1. a ballad

[

. an epic
3. an elegy
4. a sonnet
Options :
686340185953. 1
686340185954. 2

686340185955. 3
686340185956. 4

Question Number : 90 Question Id : 68634047074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mark Twain's The Adventures of Huckleberry Finn is told from-

1. The first person point of view

B

. The second person point of view

LF¥]

. The third person point of view
4, The omniscient point of view

Options :

686340185957. 1
686340185958. 2
686340185959. 3
686340185960. 4

Question Number : 90 Question Id : 68634047074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mark Twain's The Adventures of Huckleberry Finn is told from-

1. The first person point of view

2

. The second person point of view

[F%]

. The third person point of view
4. The omniscient point of view
Options :

686340185957. 1
686340185958. 2



686340185959. 3
686340185960. 4

Sub-Section Number : 2
Sub-Section Id : 6863401535
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634047075 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)

Question Label : Comprehension

“The success rate of transplants with living donors 1s higher than with brain-dead donors.” Unlike in western
countries where cadaver donor transplantation 1s predominant. in India there has been a rise of living liver
donors". Living donors or liver transplant (LDLT) can save patients with locally advanced liver cancer and
acute liver failure though deceased donor liver transplant (DDLT) in not suitable for most patients. LDLT can
be done as soon as a family member is found fit to donate a part of the liver, while DDLT requires waiting in
India for 6-18 months.” Dr. S.K. Sarm. Director. Institution of Liver and Biliary Science. said. “A deceased
donor 1s mostly preferred because of the risks to a living donor. But when the requirement 1s for. say 2.000
donors. we get just 300-400 deceased donors. But even with non-living donors, there are challenges. often
even people aged 35 are obese or consume alcohol in large amounts. More than 60% of the donors are wives
or mothers™.

As per government rule. the donor has to be a first degree relative of the recipient, that 1s a husband, wife.
brother. sister, father. mother. son or daughter. A healthy living donor can donate up to 60% of the liver. which
grows back to normal size in 4-6 weeks.

* In north India, DDLT constitutes 3-4% of transplants, while in South India. it 1s higher at 10-15 %. Overall,
92% of recipients recover well. said Dr. Neerav Goyal of Apollo Hospitals. “The recipient goes on long term
immuno-suppressant medications, usually life-long.” Liver transplants do have some risks. “A thrombus may
torm in the blood vessels during the surgical process. The liver can also be rejected by the patient’s body™.
pointed out Dr. Bhushan Bhole, senior consultant. GI surgery and liver transplantation, PSRI Hospital “A
donated organ acts as a foreign organ and the body may not accept it.”

Liver failure occurs due to non-aleoholic cirrhosis. alcoholic liver diseases, Hepatitis B and Hepatitis C.
Another factor is acute liver failure in a short time due to Hepatitis A and E drug toxicity due to anti-TB
medicines.

Post-transplant care involves regular blood tests and lifelong administration of medicines to prevent transplant
rejection. These costs around Rs. 5.000 a month. But despite the need for long-term medication and regular
follows ups, liver transplant recipients have an excellent quantity of life and a normal life expectancy. “More
than 250 patients I know have lived 15-25 years after transplant, some of the little kids we transplanted have
now become doctors. lawyers and sportspersons got married and have children of their own." smiled Arvinder
Soin.

Sub questions

Question Number : 91 Question Id : 68634047076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the options given below. choose a suitable title for the passage:-

1. Living Liver Donors
2. Cadaver Liver Donors
3. Risks in Liver Transplants
4. Liver Transplants

Options :

686340185961. 1

686340185962. 2

686340185963. 3
686340185964. 4

Question Number : 92 Question Id : 68634047077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT Complete the information

LISTI LISTII

A |Deceased donor liver transplant(DDLT)| I |Due to the risk to a living donor

B. |An LDLT donor as per rules has to be | IL [Upto 60% of the liver which grows back to its normal size in 4 to 6 weeks
C. JAn LDLT donor can donate IT1. |A first degree relative of the recipient

D. [IDDLT is preferred mostly IV |Unsuitable for most patients

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-II

[ )

AL B-IL C-IV. D-III
3. A-IV. B-IIL, C-II. D-I
4. A-IV, B-1, C-111, D-IT

Options :

686340185965. 1
686340185966. 2
686340185967. 3
686340185968. 4

Question Number : 93 Question Id : 68634047078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"DECEASED" as used in the passage means:

1. Suffering from an illness

| )

. A person with liver cirrhosis
3. A cadaver donor
4. A healthy donor

Options :

686340185969. 1
686340185970. 2
686340185971. 3
686340185972. 4

Question Number : 94 Question Id : 68634047079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A liver transplant becomes necessary when liver failure occurs due to:

A. Bad eating habits

B. Acute Hepatitis-B, C. A. and E

C. Alcoholic and non-alcoholic liver disease
D. Lack of exercise and smoking

Choose the correct answer from the options given below:
1. Aand C only
2. B and C only
3. Aand D only

4. B and D only

Options :

686340185973. 1
686340185974. 2
686340185975. 3
686340185976. 4

Question Number : 95 Question Id : 68634047080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the wrong statements with regard to liver transplant.

A. In south India DDLT constitutes 3 to 4%

B. The liver recipient usually goes on life long immuno-suppressant medications
C. In liver transplants. more than 92% recover well

D. In LDLT. more than 60% of the donors are wives and mothers

Choose the correct answer from the options given below:
1. A only
2. B only
3. C only

4. D only

Options :

686340185977. 1
686340185978. 2
686340185979. 3
686340185980. 4

Question Id : 68634047075 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



“The success rate of transplants with living donors is higher than with brain-dead donors.” Unlike in western
countries where cadaver donor transplantation 1s predominant. 1n India there has been a rise of living liver
donors". Living donors or liver transplant (LDLT) can save patients with locally advanced liver cancer and
acute liver failure though deceased donor liver transplant (DDLT) in not suitable for most patients. LDLT can
be done as soon as a family member is found fit to donate a part of the liver, while DDLT requires waiting in
India for 6-18 months.” Dr. S.K. Sarin. Director, Institution of Liver and Biliary Science. said. “A deceased
donor 1s mostly preferred because of the risks to a living donor. But when the requirement is for. say 2.000
donors. we get just 300-400 deceased donors. But even with non-living donors. there are challenges, often
even people aged 35 are obese or consume alcohol in large amounts. More than 60% of the donors are wives
or mothers™.

As per government rule, the donor has to be a first degree relative of the recipient. that is a husband. wife,
brother, sister, father. mother. son or daughter. A healthy living donor can donate up to 60% of the liver. which
grows back to normal size in 4-6 weeks.

* In north India, DDLT constitutes 3-4% of transplants, while in South India, it 1s higher at 10-15 %. Overall.
02% of recipients recover well. said Dr. Neerav Goyal of Apollo Hospitals. “The recipient goes on long term
immuno-suppressant medications, usually life-long.” Liver transplants do have some risks. “A thrombus may
form in the blood vessels during the surgical process. The liver can also be rejected by the patient’s body™.
pointed out Dr. Bhushan Bhole, senior consultant. GI surgery and liver transplantation, PSRI Hospital “A
donated organ acts as a foreign organ and the body may not accept it.”

Liver failure occurs due to non-aleoholic cirthosis. aleoholic liver diseases, Hepatitis B and Hepatitis C.
Another factor is acute liver failure in a short time due to Hepatitis A and E drug toxicity due to anti-TB
medicines.

Post-transplant care involves regular blood tests and lifelong administration of medicines to prevent transplant
rejection. These costs around Rs. 5,000 a month. But despite the need for long-term medication and regular
follows ups, liver transplant recipients have an excellent quantity of life and a normal life expectancy. “More
than 250 patients I know have lived 15-25 years after transplant, some of the little kids we transplanted have
now become doctors. lawyers and sportspersons got married and have children of their own." smiled Arvinder
Soin.

Sub questions

Question Number : 91 Question Id : 68634047076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the options given below. choose a suitable title for the passage:-

1. Living Liver Donors

2

. Cadaver Liver Donors
3. Risks in Liver Transplants

4. Liver Transplants

Options :

686340185961. 1
686340185962. 2
686340185963. 3
686340185964. 4

Question Number : 92 Question Id : 68634047077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List II Complete the information

LISTI LISTII
A |Deceased donor liver transplant(DDLT)] I |Due to the risk to a living donor
B. |An LDLT donor as per rules has to be | II. [Upto 60% of the liver which grows back to its normal size in 4 to 6 weeks|
C. |An LDLT donor can donate IT1. A first degree relative of the recipient
D. IDDLT is preferred mostly IV [Unsuitable for most patients

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-IT

| )

CA-L B-ILL C-IV, D-III
3. A-IV. B-111, C-II. D-I
4. A-IV, B-1, C-111. D-II

Options :

686340185965. 1
686340185966. 2
686340185967. 3
686340185968. 4

Question Number : 93 Question Id : 68634047078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"DECEASED" as used in the passage means:
1. Suffering from an illness
2. A person with liver cirrhosis
3. A cadaver donor
4. A healthy donor
Options :
686340185969. 1
686340185970. 2

686340185971. 3
686340185972. 4

Question Number : 94 Question Id : 68634047079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A liver transplant becomes necessary when liver failure occurs due to:

A. Bad eating habits

B. Acute Hepatitis-B. C, A, and E

C. Alcoholic and non-alcoholic liver disease
D. Lack of exercise and smoking

Choose the correct answer from the options given below:
1. Aand C only
2. B and C only
3. Aand D only

4. B and D only

Options :

686340185973 1
686340185974. 2
686340185975. 3
686340185976. 4

Question Number : 95 Question Id : 68634047080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the wrong statements with regard to liver transplant.

A. In south India DDLT constitutes 3 to 4%
B. The liver recipient usually goes on life long immuno-suppressant medications
C. In liver transplants. more than 92% recover well

D. In LDLT. more than 60% of the donors are wives and mothers
Choose the correct answer from the options given below:

1. A only

2. B only

3. C only

4. D only

Options :

686340185977. 1
686340185978. 2
686340185979. 3
686340185980. 4

Sub-Section Number : 3
Sub-Section Id : 6863401536
Question Shuffling Allowed : No
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Question Id : 68634047081 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension

I will arise and go now, and go to Innisfree.

And a small cabin build there, of clay and wattles made:

Nine bean rows will I have there. and a hive for the honey-bee.
And live alone in the bee-loud glade.

And I shall have some peace there. for peace come dropping slow.
Dropping from the veils of the morning to where the cricket sings:
There midnight’s all a glimmer, and noon a purple glow.

And evening full of the linnet’s wings.

I will arise and go now. for always night and day

I hear lake water lapping with low sounds by the shore:

While I stand on the roadway, or on the pavements grey.

I hear it in the deep heart’s core.

Sub questions

Question Number : 96 Question Id : 68634047082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Why does the poet want to go to Innisfree?

1. To explore the region

-

. To escape the industrialised environment of cities
3. To be with his friends
4. To settle for life

Options :

686340185981. 1
686340185982. 2
686340185983. 3
686340185984. 4

Question Number : 97 Question Id : 68634047083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What figure of speech 1s used in ... the veils of the morning'?

1. Oxymoron

| ]

. Hyperbole
3. Simile
4. Metaphor
Options :
686340185985. 1
686340185986. 2

686340185987. 3
686340185988. 4

Question Number : 98 Question Id : 68634047084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What does "bee-loud glade" refer to?

1. The loud buzzing of the bees in open nature

| ]

. Open space where the bees sing
3. The living quarters of the bees
4. Fighting amongst the bees

Options :

686340185989. 1
686340185990. 2
686340185991. 3
686340185992. 4

Question Number : 99 Question Id : 68634047085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the rhyme scheme of the poem?

1. abab

| B

. aabb
3. abba
4. baba

Options :

686340185993. 1

686340185994. 2
686340185995. 3



686340185996. 4

Question Number : 100 Question Id : 68634047086 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"A small cabin made of clay and wattles.... ".What does it resemble?

1. a cubicle

[ ]

. a shanty

L]

. an apartiment

4. a hut

Options :

686340185997. 1
686340185998. 2
686340185999. 3
686340186000. 4

Question Id : 68634047081 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension

I will arise and go now. and go to Innisfree.

And a small cabin build there, of clay and wattles made:

Nine bean rows will I have there. and a hive for the honey-bee,
And live alone in the bee-loud glade.

And I shall have some peace there. for peace come dropping slow,
Dropping from the veils of the morning to where the cricket sings:
There midnight’s all a glimmer. and noon a purple glow.

And evening full of the linnet’s wings.

I will arise and go now, for always night and day

I hear lake water lapping with low sounds by the shore:

While I stand on the roadway, or on the pavements grey.

I hear it in the deep heart’s core.

Sub questions
Question Number : 96 Question Id : 68634047082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Why does the poet want to go to Innisfree?

1. To explore the region

| ]

. To escape the industrialised environment of cities
3. To be with his friends
4. To settle for life

Options :

686340185981. 1
686340185982. 2
686340185983. 3
686340185984. 4

Question Number : 97 Question Id : 68634047083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What figure of speech 1s used in ... the veils of the morming'?

1. Oxymoron

| ]

. Hyperbole
3. Simile
4. Metaphor
Options :
686340185985. 1
686340185986. 2

686340185987. 3
686340185988. 4

Question Number : 98 Question Id : 68634047084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What does "bee-loud glade" refer to?

1. The loud buzzing of the bees in open nature

2

. Open space where the bees sing
3. The living quarters of the bees
4. Fighting amongst the bees

Options :

686340185989. 1

686340185990. 2
686340185991. 3



686340185992. 4

Question Number : 99 Question Id : 68634047085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the rhyme scheme of the poem?

1. abab

| B

. aabb
3. abba

4. baba

Options :

686340185993.
686340185994,
686340185995.
686340185996.

AW N =

Question Number : 100 Question Id : 68634047086 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"A small cabin made of clay and wattles.... ".What does it resemble?

1. a cubicle

| )

. a shanty
3. an apartment

4. a hut

Options :

686340185997. 1
686340185998. 2
686340185999. 3
686340186000. 4



